Calculus I 1210-90 Exam 2
Summer 2014

Name K E }/

Instructions.  Show all work and include appropriate explanations when necessary. A correct answer
unaccompanied by work may not receive full credit. Please try to do all work in the space provided. Please
circle your final answers.

1. (13pts) For this problem, consider the function
fx)=z*-82%+7

(a) (4pts) Find f'(x) and f"(x).

L‘f'(x) = Yy’ a4yt = M (x- “’)
2f"x) = 12x*- 4Bx = [2x (x-4)
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(b) (3pts) Find the two critical points of f(z).
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(¢) (3pts) Fill in the blanks: f(z) is increasing on the interval ( & k0 ). Note: +oo are

acceptable answers.
- (d) (3pts) Fill in the blanks: f(z) is concave down on the interval ( 0 : _LL ). Note: +oo are
2 acceptable answers. .
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2. (11pts) Now consider the function
f(z) = 2% cos z.

(a) (4pts) Show that = = 0 is a critical point of f(z).
%_ 2 -?'CX) = 2xees X - X Temx

2z 'F’(o) = 2(6)cos(s) — O Suc(0) = 6-0 =0 = X=0 lk¢p.
(b) (4pts) Find f"(z).

L(/ ¢ ") = 20sx - Yxcmy — xzos x

(c) (3pts) Use the Second Derivative Test to classify the critical point = 0 as a local minimum,
local maximum, or neither.

i '?"CO) = 2 ¢og(o) - fle)sm(o) -(D)LCDC(") =9%2-0-06=250
o Lj ZM"Q“"“"T“H' +“'}_) X=0 i¢ local wumimowm .
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3. (8pts) The airport is located 300 miles due west of the city. An airplane left the airport at noon,
traveling due south at 400 miles per hour. At what rate is the distance between the plane and the city

(labeled D in the drawing below) increasing at 1pm?
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4. (8pts) Find the equation of the tangent line to the following curve at the point (3, 2).

2y — y?z = 2z.
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(a) (6pts) Find the equation of the tangent line to y = /x at = = 16.
Feooy=Hx =x" = L) =1" = 2
oA = L =8 iSe mida pooil = PN . L
Fo= g7 = ey s - (%) =50
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L 2 + 35 (X X-lb) = 3, x 42

(b) (4pts) Use part (a) above to estimate v/15.9.
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6. (10pts) Find the dimensions of the rectangle with the largest area that can be inscribed in the ellipse
e y? = 1. Do this by finding the coordinates x and y (see picture below) that maximize the area
of the rectangle squared A = (4zy)? = 1622y? (squaring the area just makes the computation easier).
Note: You must use calculus to get credit!!
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7. (16pts) Find the indicated general antiderivatives: Remember +C! ™ il ol
- . Cof &
(a) (4pts) / (z —9) dz Ws‘r""} >
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(b) (4pts) f(:l cosx — sinx) dx
u( = 3smx 4t os¥ +C
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(d) (4pts) /(1‘2 +6)%z dzx
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8. (6pts) Approximate / (9 — 2% + ) dr using a Riemann sum with 3 subintervals of equal length and

-2
the sample points being the midpoints of the subintervals.
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9. (6pts) Use the area interpretation of the definite integral to evaluate

5
f (2 — |z|) dx
-3

Note: It will probably be helpful to sketch a graph of y =2 — |z|.
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10. (6pts) A car’s velocity in miles per hour is given by

v(t) = 6t + 2t + 10.
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f(‘i’ ) A % Ax (F6) 1) +403)) = 2 (7+9+3) = 38%9*7

(1®)

Here, time ¢ is measuring hours. How far has the car traveled in the first hour (from t =0 to ¢ = 1)?

[{ Covr's nglh“ 18 an awhodopwalve of v(t)
Sy = 283+ 8% +10L +C

Coov L-»S‘f‘ra-lro{e.at

SC)-5(o) =(zcu)3+c|)"+ lo(1) +—c) s (z(o)3+ D?'+Io(°)+c,) = [3+4C-¢ =

11. (6pts) Find the value ¢ guaranteed by the Mean Value Theorem for the function f(x) = 2% + 3z — 5

on the interval [1, 3].

‘FE_;_)_:_F___U) = ‘___._-—a%*(—l) =_!.\!- =7
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